
 
Exercise 1.1 - Identify the following pitches

  
   




  
  

 
  

  
       

          


 


 


  




 




 
 

 




       
  

          




Exercise 1.2 - Notate the following pitches

































 
Exercise 1.3 - Identify the following intervals

        

          

          

          




       

 




 
 

 



 

  

    
      

          



 
Exercise 1.4 - Notate the following intervals above and to the right of the given pitches

   
    

    
     

          

          

 
        

 
        

          

          

M3  P5  m7 m2  M6 M2 A6  M6  d5   m3

P8  P4 P5   M6 M3 m2 m7  m3   d5 A4

M3 M2 m3 M7 M3 A4   m3 P5   m7   P5

m3 M3 P4 M7 P5 M3  M6 m3  M3   m3

M2 m2 m3  P5   M6   m3  A4  d5   m7 A2

A1 d5  P5   M7 P5    A5    d5  P8  M6    d4

m2  M3  m6 M3 m3  P5   M2 m2  A6     P5

M3 m3   m2   M2 P5 m6   m7   M2 m3 P4



 
Exercise 1.5 - Label each interval, invert it in the space provided, and label each inversion

   

     
     

     

 
Exercise 1.6 - Label each interval, renotate it enharmonically, and label the enharmonic equivalent   

  
  

     

     



    
Exercise 1.7 - Identify the incomplete measures, fill each with one note, and then clap the rhythm

             

            

                 

                 

               

             

               

                      



   
Exercise 1.8 - Identify the incomplete measures, fill each with one rest, and then clap the rhythm

          

                 

                  

                     

               

                         

                               

          



Exercise 1.9 - Compose a melody using any notes (it could be tonal or atonal) in the time signature of
employing a great variety of rythmic impulse




